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II Semester B.Com. Examinationo April/Nlay 2018
(Scheme : RS)

(Freshers of May/June 2017 & Onwards)
COST AND MANAGEMENT ACCOUNTING -I

Time : 3 Hours
Instruction: Answer all the parts.

ae4 enrlrlgil erugo,x.

Max. Marks : 80

PART - A

+rorl - o
I

Answer arry 2 questions. Each question carries 20 marks. I2x20=401
oJla{oodde 2 dd4il9ri w{o:r. d.3 dddri den 20 erodrlq;b.

QI) Defrne CostAccounting. Explain the differences between financial accounting
and cost Accounting.

d{ eeoro$ uo$dd:o aoran 0,rr. e3{m{ ubq d{ Oeoro$ m{rlend:d
droorirl*dro ado:r.

Q2) Following information are obtained from costing records for the month of
March 2018.

Raw materials purchased during the month t9,00,000

Cost of materials in stock on 11312018 {60,000

Carriagelnward t10,000

Wages Paid {4,00,000

Direct Expenses { 1,00,000

Factory Overheads {1,84,000

Wages Outstanding {60,000"
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Work-in-Progress on I 13 12018

RawMaterials in stock on3ll3l20l8

Work,in-progress on 3 1 I 3 I 20 18

Opening stock of finished goods

Closing stock of finished goods

Selling & distribution overheads

Sales

Administrative overheads

<24,000

t50,000

t30,000

{ 1,20,000

t 1,10,000

{40,000

t 19,00,000

{60,000

M-58

Prepare a statement of cost showing cost of goods manufactured and cost of
goods sold.

dr dsdod addriqj$4 dr{m$e3rls$4 2018de dooztrr Soripri ddo$ennd.

dzs-o, daadrdab, Eorl9e) d,noad:ddr?J'4-)

11312018dO dzso docdr aaxndr
'J

1106 zJaGri

d-oO Ara€cbCcb

ded $z$r

aostoFd abee,:"zSrrrlsb

d.oO zroE

1/3/2018 dg ddeo3:Q{ de.:n

3lBl2AI8 deld. 6o:io-$ daq. doofrrc. o _o- 2,3

31Bl2aI8 de: drl.3ob${ dol
Rrd dfDrl$ sdozJ 9e-:r,JY9

lrd diDrl$ elod^ 9sr.O-ood
drooot^l "$d] 0dde6? $a$rrl$b

drocnt^l

sJd9d abee.r"j,3:rr1*b

t9,00,000

{60,000

t 1o,ooo

{4,00,000

{1,00,000

{1,94,000

{60,000

t24,000

{50,000

t30,000

t l,2o,ooo

t 1,1o,ooo

t40,000

{ 19,00,000

{60,000

d?ddqo$e{ ,xqdal, dcimo* dd abdl drocnui ddddb{ d.oeo&.
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Q3) Prepare a stores ledger A/c for material 'X' under FIFO and LIFO method.

ll4l20l8 opening stocks 3,000 units @ t 15 per unit.

Purchases

10-4-2018 2,000 units @ t 16 per unit.

12-4-2018 800 units @ t 16.50 per unit.

18-4-2018 1.200 units @ t 17 per unit.

22-4-2A18 3,000 units @ t 18 per unit.

Issues

5-4-2018 2,000 units

15-4-2018 1,800 units

. 20-4-2Ai8 1,500 units

24-4-2018 3,150 units

30-4-2018 800 units

The stock verification revealed shortage of i0 units on 28-04-2018.

'X' xed;oQc3: *4e$.n d:4 Ofr.oe' uqodd d;eeJ erurgso srodo$$4
dc$o04. 1-4-2018dociD a3dcdd mxo.$ 3,000 c$n0tsrl$ dg od)oe[,trrl do 15.

arlAcA .
dJ \,/ \ \^,, .

10-4-2018 2,000 os]rrCI[,trrl$r de d]roO[,trri t16/-

t2-4-2018 800 o$.ro&r,trrl9c {ie a1)n&r,fri t16.50/-

18-4-2018 1,200 o$-ra&[,trrlsb de d]rD&t,trrl <17 /-
22-4-2018 3,000 Clo&n,trrl9c dg o$rD&F,trri t18/-

s3d>rld

5 -4-2018 2,000 oJr.oattrrJ9r

15-4-2018 1,800 o$.n0€trrlsJ

20-4-2018 1,500 o3]ra&[,trr1#J

24-4-2018 3,150 o$,oOt,frl$jJ

30-4-2018 800 o$.o$tf;rl#;

oinod 28-4-20I8doC: crosoS do&€edoerod 10 #n^idrl$ Aradd doC:
I rnACr
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Q4) Sangeetha Granites Company Limited has four departments p,e and R are

production departments and S is a service department.

The actual expenses for the month ofApril 20l g are as follows

Materials

Lighting

Insurance

Employees contribution to ESI

Repairs to plant

Power consumed

Supervision

Depreciation on plant

Rent

Canteen charges

The following information is also available in respect ofthe fourDepartments.

t
50,000

6,000

20,000

10,000

1,800

11,000

30,000

8,000

36,000

24,000

Particulars

Area (in metres)

No. ofEmployees

Direct wages (t)

Value ofplant (t)

Value of stock (t)

H.P. of plant (t)

PARS
15,000 11,000 9,000 5,000

40 30 20 30

60,000 40,000 30,000 20,000

2,40,000 1,g0,000 1,20,000 60,000

1,50,000 90,000 60,000

t2963
Material expenses to be apportioned equally. Apportion the expenses to the
various departments on the most equitable basis. 

-
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iofred rgdo{ dod& eo$tudd '&', 'drad', 'qJcf' eruo;od6to cqJorl a$dl
'oxf' o3:oa: deayo aqnrlddro dooad. Dgef 20l8dg Oasarod $z3rrrlq;b

& d$ndoed.

t
;o$!rl$o 50,000

d9$ 6,000

a$ 20,000
m r-d**'ioxod6d'q.c^r^J.C^i.ll n 

e
(doOedd) dlod:rl 10,000

in*dd odeo 1,800

a.Jr,f$q wdo3oenRrdl 11,000

d:e Oozrodd 30,000

xo ddd ldd9 8.000
we,roGri 36,000

erDd6"d aDz$r 24,000

&s* aqrorlrlg dmbgo3lr * d$ndo.3d.

eddrl€c c9J d", sd axir

6ided (a3.eDeo.lcf) 15,000 11,000 9,000 5,000

foddd froel, 40 30 20 30

ded doO (dn) 60,000 40,000 30,000 20,000

qddd dej (do) 2,40,000 1,80,000 1,20,000 60,000

ndsd s3ej (do) 1,50,000 90,000 60,000

o$ogi ds 12 9 6 3

m*D $?,$Fd)4 idmdamh doz3enrb$u$. aeg aqnrlrlgri d€d doaJd

d.oro:r (dlar{ .agn,tr?Jef)

PART - B
?Jod - E

Answer any 2 questions. Each question carries 10 marks. [2x10=201
c3n{oaddn add: dddilerl w{04. dg ddJ 10 epodrl$;.

Q5) Whatis meant by Inventory control? Explain the different methods ofpricing
of issue of materials.

oonod> &o$o$eo acdoed:? :iDdro|trS ileado3:g tJ*i &rlOeddeod sfrd
-.2-? e^i.r. DdO&.c^i(%\:,'V\J.J(\ J4 (
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Q6) Fronthe following calculate for each worker, the total earnings under Halsey

and Rowan plan

Basic wage rate per hour t
Units produced

Time allowed for 100 units

Time Taken

dr d$nd cddrleod dg aaerrFd&ri
s,"ub d9dd$o d{-S.

AOODFd A
droe-: .dedd5ie rlos3ri (dra) 10

100o$.r00[S dojlooie:l d,ot^lFoo 2 rloo,3rlsb

dridrd.ood aoe.: 
qr

50 rloeizl$t

Q7) Analyse the methods of absorption of overheads.

dree,:: ddd 6oeodo$ dq.go$db4 egechA.

Q8) Calculate MHR from the following.

Cost of the machine

Cost of installation

Estimated scrap value

Estimated life 5 years of 1,000 hours per year
Rent and rate for a quarter for shop

General lighting per month

Shop supervisory salary per month
Insurance premium for the machine p.A.

E,stimated repairs per annum

Power I unit per hour at the rate of t20 per 50 units.

Worker A

10

2600

2 hours

50 hours

6.ef 6.rfuo

Worker B

15

3600

thour

30 hours

dne daf dd erlgO :rrbdnY

6"tuFd B

15

3600

I rlooS

30 rloo^3rlq;b

t
90,000

10,000

5,000

4,500

1,200

3,000

2,500

3000
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The machine occupies % of thetotal arca of the shop. The supervisor is

expected to devote /6 ofhis time for supervising the machine. General lighting

is to be apportioned on the basis of floor altea;.

dsnd ado$ri9od o$ogfion3 dddd:o dodr bBcDro:

t
o$o$d a3e3

ngdan daf

cocJoao dq dej

90,000

10,000

5,000

4,500

1,200

3,000

2,500

3,000

I o3loCIa,tr rooJrrrrodd

[4x5=20]

eoo"ao deCIdd eldQ gia ddrdd 1000 rlotirl$od 5 ddrild>

aoojorrrodd d.,dro:Jd zmBri d>dr dori
JgJ

xodod, $cbdscatq gi.9 Eorteri

roo$rrrodd d:eelzoddd doad doud

o$o$d ado dod: ao&rd

eo6ao odeo $a$r ddr8

ad)r{g s0 od}oo[,trrted dra. 20 dod Eie dodd

a"q e1eeord$ % porlddro o$od u3iar&d. dreOoerodddb dd4 d$o$d

% Wtld,d:* o$qp $eeJz,oddrrofl aofrOdz3e8od Soe$derofld. nodmd,

a d)"?^1.6 o$ ib, ded o:r-e eor d dr e ej aqn h i a3e $.
O e+Lg q, J

PART - C
ePorl - ,gr

Answer ny 4questions. Each question carries 5 marks.

,ob{mddo 4 dt4rlgri erugo:r. d.9 dd4rl 5 erodrl$b.

Qg) 'Nhx do you mean by ABC analysis.

az0tr Ogedd ooddedr?

Q\D)Write the differences between a BIN CARD and a Stores Ledger.

?ldrc doorrrigrto abq flg*q ei€c'6rfu0 qd:d d*ooriddro gQA.
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QLL)V{hat is Economic order quantity?

eodddo$ erded ro$ aodde$?

M-58

Ql2)Distinguish between allocation and apportionment of overheads.

rio$ dGR,,d dq d>4 doz$d dz*i19 dd>ad draoriddd>o seir.JU

Q\3)Whatare the functions of purcllase department?

$oeO aqlorld adrrlwo{.1$?

QIQOn what basis do you apportion the following overheads?

1) Factory Rent.

ii) Factory Lighting.

iii) Power.

lD Depreciation.

v) Supervisor's salary.

dr ddnd dlegu;,ri9 doe,sd ereadrisodC?

1) roamrd zmGri

ii) 6"eroFd A€d

iii) ad6s6z$1 dz*

tr) dddp

v) d:eelzoddd doat9

,/ '/ ,/


